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RRB NTPC 30th April 2016 Shift 3
[Roll No: |
Participants Name:
Test Center Name:
Test Date: 30/04/2016
Test Time: 4:00 PM - 5:30 PM
Subject: RRB NTPC Graduate
1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
Q.1 97 = 3T A FHEHE (Coliform) $r sufeafa T AT B )
Question ID :2055234238
A. TERTSS HeuuT (Floride contamination) Status : Not Attempted
B. BIFHRH THUT (Phosphorous contamination) Chosen Option : --
C. 9T & HId & @HI94 (Salination of water source)
D. Ag 39fAse & WU (Contamination by human waste)
Ans B 1 A
X 2.c
X 3B
o 4D
Q.2 wg i vsw fAuer @ f feurh 3fos & s F g &7 T
Question ID :2055234239
A Status : Answered
B. Seaad =T
Chosen Option :1
C. manfie a#let
D. f@ure uftvg
Ans o 1 C
X 2D
X 38
X 4.A
Q.3 3w (Buoyancy) Rigid & MO R Sierer W # R &1 AdyUA 34 [baia B GwEe F & A TR i
FT R S 3 Question ID :2055234231
A. sfiew i (Niels Bohr) Status : Answered
B. #er (Kepler) : .
5 achinedies Chosen Option :1
D. &+ TNWIS (Ken Rutherford)
Ans x 1.A
X 2D
X 38
J4.C
Q4
Question ID :2055234303
1127
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frAfaf@d an 7T et # & diq e fRET o Bl TR U W § Y o e fiee €)1 9 #i @ e §
St aew AT @ fiew &7

A. Rat

B. Squirrel
C. Mongoose
D. Mole

Ans X 1A
K 2.0
W 3c
5 4B

Status : Answered
Chosen Option : 3

Q.5 S wor I9AICT sftewdn g @l § af dae swaiiar g St g1

A. FARRICHS
B. =

C. 3f|a

D. =aH

Ans x1_c
K 2.A
/X 3.0
W 4B

Question ID :2055234252
Status : Not Attempted
Chosen Option : --

Q6 Which was the first satellite launched into the Space?

A. Vostok
B. Sputnik
C. Explorer 1
D. Vanguard

Ans x1_D
K 2.A
K 3.c
W 4B

Question ID : 2055234244
Status : Answered
Chosen Option :3

Q.7 Divide Rs. 126 in the ratio 2:3:4:5. The rupees in the respective ratios are given by:

A.18,27,37 & 44
B. 18,2735 & 46
C. 18.27,36 & 45

D. 18, 28,35 & 45

Question ID : 2055234272
Status : Answered
Chosen Option :3

Ans & 1D
K 2.A
W 3c
X 4B
Qs

Question ID :2055234310
Status : Answered
Chosen Option : 4

Downl oaded From www. rrbexamortal.con

2027
COURTESY: RRB


https://rrbexamportal.com
https://rrbexamportal.com
https://rrbexamportal.com

Downl oaded From www. rr bexanportal . comr

Look carefully at the below given figure

The total number of convex pentagons in the figure is

.8
. 10
i 12
. 14

Ans

X8 X Xgawp

> o o

Q 9 The largest Union Territory (UT) in the country in terms of population is (consider Delhi as National Capital Territory-

heliandnotasal) Question ID :2055234246
n E?Zli'?.;“; o Status : Not Attempted
C. Chandigarh .
D. Andamfn and Nicobar Island Chosen Optlon L

Ans X1 A
X 2.c
W 3.8
X 4D

Q.10 i ; i 2
Which acid would you found in a lemon? Question ID : 2055234233

A, Acetic Acid Status : Answered
. 2 . Chosen Option :3
B. Tartaric Acid
C. Salicylic Acid
D. Citric Acid
Ans x 1.C

5 2.8

W 3D

K4A

Q.11 Which country lifted the ban on oil exports after 40 years in December 20157

Question ID : 2055234224
Status : Answered

A. Russia

B. USA
C. Iceland Chosen Option : 3

D. India

Ans  of 18
K 2D
K 3A
K o4c

Q12
Question ID :2055234232
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AC and DC are forms of

A. Flow of charge
B. Flow of voltages
C. Flow of water
D. Flow of Air
Ans  of 1 A

X 2.B

X 3.c

X 4D

Status : Answered
Chosen Option : 2

Q.13 What is the strength of the Lok Sabha under the current laws?

A 543
B. 545
C. 544
D. 542

Ans X 1A
K 2D
X 3.C
v 48

Question ID :2055234247
Status : Not Attempted
Chosen Option : --

Q14 oieff & AW H, A ¥ TGN I=T A5ee (nitrates)
A. IiEr (Urea) # uRafda g smar g

Question ID :2055234229
Status : Answered
Chosen Option : 4

B. #Hed @rscliee (Nirogen) # 9iR@fca gr wirar &
C. 33 vf@s (amino acids) # 9Rafda g arar &
D. 3ATAT (Ammonia) # aR@fdd g Sran g
Ans X1 C
W28
X 3D
p W

Q15 By how many minutes is the IST ahead of the PKT?

A. 25 minutes
B. 35 minutes
C. 40 minutes
D. 30 minutes

Ans X" 1 A
W 20D
X 3B
X ac

Question ID : 2055234236
Status : Answered
Chosen Option : 2

Q.16
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Compute of 50688 /256 /9 =?

A 21
B. 1782
C. 22
D. 1872

Ans X1 A
X 2D
o 3cC
X 4B

Q17 The value of 0.968 =+0.11="?

A. 88
B. 8.8
C. 088
D. 8
Ans J1.B
X 2D
K 3A
X ac

Question ID : 2055234266
Status : Answered
Chosen Option : 1

Q.18 AR (Maareech) &1 &7

A. FEEX 2015 # AR Al #t |l 7 3eaa et (Torpedo) & womelr
B. Al arg o & forw fawfia fram o w@r s afttetor e

C. dRd & & &I 1 BT FEa-Bd FH

D. SR g T 7 g

Ans X 1.D
X 2.8
W 3A
X 4.c

Question ID : 2055234223
Status : Answered
Chosen Option :3

Q.19 Mr. Roylen sold a bus for Rs. 850 with a loss of 15%. At what price should the bus be sold to get a profit of 15%?

A. 1160
B. 1130
C. 1120
D. 1150

Ans X1 A
X 2.c
X 3B
o 4D

Question ID : 2055234279
Status : Not Attempted
Chosen Option : --

Comprehension:
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Study the following Venn diagram and answer each of the following questions :
In the Venn diagram,

Triangle represents persons who take Maaza;

Circle represents persons who take Fanta;

Rectangle represents persons who take Slice.

10 25
20/1?(15\ 30 j4ﬂ
7\ 20

20

SubQuestion No : 20
de How many persons who take Maaza and Slice but not Fanta?

Question ID :2055234315
A. 20 Status : Answered
B. 17 Chosen Option : 4

C. 25
D. 15

Ans "1 A
X 2.c

X 3D
W 4B

Comprehension:
Study the following Venn diagram and answer each of the following questions :

In the Venn diagram,
Triangle represents persons who take Maaza;
Circle represents persons who take Fanta;

Rectangle represents persons who take Slice.

10 25
20/1?(15\ 30 j‘m
7\ 20

20

SubQuestion No : 21

Q.2
1 Question ID :2055234317
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How many persons take Slice?

A 100
B. 82
C. 92
D. 122

W 1D
X 2.A
X 3B
X 4c

Status : Answered
Chosen Option :1

Comprehension:

In the Venn diagram,
Triangle represents persons who take Maaza;
Circle represents persons who take Fanta;

Rectangle represents persons who take Slice.

20/1? f1s\ 30

A

SubQuestion No : 22

Q.2 How many persons are there who take both Maaza and Fanta but not Slice?
2

A 22
B. A7
C.7

D. 20

Ans & 1D
X 2.A
Vv 3c
X 4B

Study the following Venn diagram and answer each of the following questions :

Question ID :2055234316
Status : Answered
Chosen Option : 3

Q 2 A P,R, X, S and Z are sitting in a row. S and Z are in the centre. A and P are at the ends. R is sitting to the left of A. Who
is to the right of P?

A A

Ans x1_c

Question ID : 2055234308
Status : Answered
Chosen Option : 2
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Q.24 If the product of two numbers is 3276 and their LCM is 63 then their HCF is: Question ID : 2055234270

A. 32 Status : Answered
B, 78 Chosen Option :3

C. 52

D53

Ans X 1A
X 2.8
W 3c
X 4D

Q.25 Frfafad ar g d @ e 395 fFd @ B 96 o gEe § IR oF 39 e B a9 el @ gmE g e

e e § Biewt 37 Question ID :2055234301
A. Horse : Neigh Status : Answered
B. Owls : Hoot

Chosen Option : 4

C. Goats : Bleat
D. Bees : Hiss

Ans X 1.8
X 2.A
W 3D
X 4a.c

Q.26 Read the statements and select a conclusion from the given alternatives:

Question ID :2055234312
Statementy; Status : Answered
All phones are stones Chosen Option :3

Some stones are ropes

All ropes are windows

Conclusions:

1. Some phones are windows

2. Some windows are stones

3. Some phones are not windows
4. All windows are ropes

Choose the conclusion which best follow/s the statements

A. Only 1 and 2 follows

B. Only 1,2 and 3 follows

C. Only either 1 or 3 and 2 follow
D. Only either 1 or 3 and 4 follow

Ans O 1 A
X 2D
X 3B
o ic

Q.27 Tp ber of sides of a regular pol hose itteri 1 h108" is:
€ NUMDEr Of 514es OI a regular polygon whose 111 Or angles are eac. 15 Question |D 2055234285
g' fj Status : Not Attempted
C: 5 Chosen Option : --
D.7

Ans X 1.0
K2.A
W 3c
5 4B
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Q.28 va a3 F fawoll 1 ae=rg 10 T § o &1 $1 oar A 7 A9 Few
A. /30
B. £+/30
c.5
D. 1042

Ans X' 1B
o 2A
X 3.C
X 4D

Question ID : 2055234286
Status : Answered
Chosen Option :4

Q.29 Ifin a certain language, HEAVEN is coded as IFBWFO, how is HARVARD coded in that code?

A. IBSWBES
B. IBBESSW
C. IBSWBSE
D. SWIBBES

Ans X' 1D
X 2.8
W 3cC
X 4A

Question ID : 2055234296
Status : Answered
Chosen Option : 3

Q30 fyfeFaq weft (Bilquis Edhi) d

A. AT # UISes oIS I HEATH
B. weft (Edhi) Fwem urfeerdrer 7 TEamas
C. AT Afgelr fohehe &1 61 TARER
D. Tl Fshdr
Ans (1,5
K 2.0

X 3.A
K o4c

Question ID :2055234241
Status : Answered
Chosen Option :1

Q.31 6 @l FT warsal F1 ATed 44.2 DAL {1 39 T 5 wEl HT dusal FT AT 46 J T O 687 o5 B wEEs F4r
geh?

A 35

B. 352
C. 351
D. 355

Ans  of 18
X 2.A
K 3D
X a.c

Question ID :2055234291
Status : Not Attempted
Chosen Option : --

Q.32
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Read the statements and select a conclusion from the given alternatives:

Statements:

All beds are pens.
Some beds are cots

Conclusions:

1. All pens are beds.

2. Some cots are pens.

3. All cots are pens.

4. Some cots are definitely not pens

Choose the conclusion which best follow/s the statements

A. Only 1 and 2 follow
B. Only 2 and 3 follow
C. Only 2 follows
D. Only 4 follows

Ans  of 1 C
X 2.A
K 3D
X 4B

Q.33 ™ W o F 15 fwe F swane | 25 Frahda & afd & gedh ) W A fAwda G ¥ o @ o
Afgar 1 3 e sy afg (FF.A/den & ge=n 92om arfs 39 10 fEe & siaua @ @er amd?

A 12
B. 12.25

C.125
D. 12.75

Ans  of 1 C
X 2D
/5 3.B
X 4.A

Question ID :2055234275
Status : Not Attempted
Chosen Option : --

Q.34 Direction: Read the statements and select a conclusion from the given alternatives:
Statement:
Some of the engineers are very smart. Suman is studying in second year of engineering..
Conclusions:
I) Suman is very smart.
II) Suman has a bright future.

A. Only conclusion I follows
B. Only conclusion II follows
C. Either I or II follows

D. Neither I nor II follows

Ans o 1D
K2.A
X 3.C
5 4B

Question ID : 2055234323
Status : Answered
Chosen Option :3

Q.35 Who was the first Muslim President of the Indian National Congress?

A. Rahimtulla M Sayani

B. Nawab Sayed Mohammad Bahadur
C. Badruddin Tyabji

D. Abul Kalam Azad

Ans ?(1_[)
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v oc
X 3.A
X 4B

Q.36 Direction: Read the statements and select a conclusion from the given alternatives:

Question ID : 2055234324
Status : Answered

Statement:

Gurgaon is the most expensive city.

Chosen Option :1

Conclusion:

I) Chennai is less expensive than Gurgaon.
II) Shimla is the cheapest city.

A. Only conclusion I follows
B. Only conclusion II follows
C. Either I or II follows

D. Neither I nor II follows

Ans X 1.D
X 2.8
W 3A
X 4.c

Q.37 F9 &aRT gaAE F SR GFRAT S @7 vead Al d9 (logo) FRE oW 3 AT amm ar?
Question ID :2055234257
A. 1977
B. 1978 Status : Answered
C. 1998 Chosen Option : 3
D. 2001

Ans X 1A
W 2c
X 3D
X 4B

Q 38 Four pair of words are given below out of which three are alike in some manner and one pair is different. Which pair is

yfterent from, the cest? Question ID : 2055234302
A. Electron : Molecule
B. Train : Engine Status : Answered

C. House : Room
D. Scooter : Gears

Ans  of 1A
X 2.c
X 3D
X 4B

Q.39 In a certain code language, if TAKE is coded as 7915 and CAT is coded as 792, then CAKE can be coded as

Chosen Option : 3

(Choose one from the options below). Question ID : 2055234294

A. 5179 Status : Answered

B. 7951
C. 2915
D. 5791

Ans 1.D
2.C
3.A
4.B

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Chosen Option : 2

Q.40
Question ID :2055234280

Status : Not Attempted

1/27
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Wwanwmﬁzﬁméﬂﬂﬁ.wﬂaﬂmﬁ14%a$=ﬂma‘mé,a’t3wﬂ§ﬁfmgﬁamﬁl Chosen Option : -- J
e grm?

A.29.25
B. 29.96
C.29.75
D. 29.5

Ans X 1.D
X 2.A
W 3.8
X 4.c

Q.41 & A FEie & w5, F Gw ash @ A wgae | A g N B A oAl F Sher 1 e ol o A7y
sl 1 TN F B A Rear 37 Question ID :2055234306

AT Status : Answered
B. stclisti/aisit
C. weeiard
D. =TaRy/aaRT s

Ans  of 1D
X 2.8
X 3.c
X 4A

Q42 & o5 HEIslt A F REEr NG FA TE g7 Question ID : 2055234265

Status : Answered

Chosen Option : 2

Chosen Option :2

| L
ey
b
WO | o

—t
(=

O | e

= N
— (=
= k2

= W
o | oo
==
b

11 8
B
1279

Ans X' 1D
v oc
XO3A
X 4B

Q_43 St wF FD # faer sear 81 3fg 6500 &3 6 A8 & v 20% anfie =wafe samer 61 &3 o fdy &g o &
3 @ sarer Taamdr aafiier @ &, o SREdAr 9 3 @or Fhaelt i faie Question ID :2055234278

[« RV

A 71665 Status : Answered
B. 7166.25
C. 7166.35
D. 7166

Ans X1 C
X 2.A
X 3.D
W 48

Chosen Option :1

Q.44
Question ID : 2055234228

Status : Answered
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Ans

R gel, Toieg eRRars (Asiad) ol T SAT @, AW Agredii sg-we gfanfiar & e

mfara o s 87

AT ag

B. & wig ay #
C. gt or a¥ #
D. &7 g@y av

X 1B
X 2.A
X 3D
W cC

Chosen Option :4

Q45

Ans

Gin=—2=x=3,y=0&z=—%.Fiﬂd thevalueofy(

0

1
Z

o0wp

-1

v EW
K 2.0
X 3B
K o4c

x+z

w

).

Question ID :2055234282
Status : Answered
Chosen Option :1

Q.4

Ans

C.

D.

6
IfCarx=%, then Sinx + Cosec x =7

17
13

331
156
216
65
313
156

S 1D
X 2.8
K o3.c
v W

Question ID : 2055234288
Status : Not Attempted
Chosen Option : --

Ans

A. 28
B. 42
C. 56
D. 35

X 1.D
K o2.c
W 38
K4A

Q.47 & Afaw & =9 7 sfase, 3fRea & qupar dor § qur 4 e vk F F 14 oA F e w8 e
e FF F frae At F @ A arem?

Question ID : 2055234274
Status : Answered
Chosen Option :4

Q.48
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& T frear €2

A. Toar
B. grer
C. g

D. agels

Ans X 1A
Wvoc
/X 3.0
X 4B

F TG F1 T S FIF AT Feal &, FAF THAA 9 AN T F Far #1 Far 87| 370 Afwq #1 sAcivr

Status : Answered
Chosen Option :1

Q49 golyvefor x: S—4x=-3

2
w2
. 0.5
0.5

Ans B

XX8%aw»

D
.C
A

X 4

Question ID : 2055234284
Status : Answered
Chosen Option :2

Q.50 HCFCs are:

Ans  of 1 8
X 2c
K 3A
X 4D

A. High Density Chlorofluoro Carbons
B. Hydro Chlorofluoro Carbons

C. Hydrated Chlorofluoro Carbons

D. Heated Chlorofluoro Carbons

Question ID : 2055234237
Status : Answered
Chosen Option : 1

cafed ¥ @ Rear §72

A
B. w5
c. g
D. Tt

Ans X' 1D
o 2A
X 3B
X a.c

Q.51 Wmﬁms%mmgva‘fﬂ,ﬁt’hmﬁma“mm@%ﬁﬁmﬁuﬁﬂﬁﬁaﬂﬁﬁ?ﬁmaﬂa’ﬂ

Question ID : 2055234305
Status : Answered
Chosen Option :3

A. i el
B. 3301 @A

C. ganehy #gdr
D. g amaEsy

Ans x 1.C
W 2A

Downl oaded From www. rrbexamort al .

Q.52 el fordbe vAIfweE & siedel & ¥ H R AR ket o Selge STl &1 T form §7

Question ID : 2055234226
Status : Answered
Chosen Option :1

con
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RRB NTPC

Railwa_y Recruitment Board

RRB NTPC (Tier -1 & Tier -2) Exam

RRB NTPC (Tier -1) Exam

RRB NTPC (Tier -2) Exam

Exam PAPERS

Exam Syllabus

Eligibility

Medical Fitness

RRB Post Preference & Zones List
qdreT f¥eed "Exam Syllabus in Hindi"
Printed Study Material (English Medium)
RRB NTPC Exam for Aptitude Test
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X 3D
X 4B

Q.53 Who invented the first pacemaker?

A. Virginia Apgar
B. John Hopps

C. Christian Barnard
D. Earle Dickson

Ans X 1D
X 2.A
K o3.c
W 4B

Question ID

12055234259

Status : Not Attempted

Chosen Option

Q.54 By which Urdu name is the river Indus referred to in Pakistan?

A. Sindhu

B. Nahar-al-Sindh
C. Darya-e-Sindh
D. Sindh

Ans X' 1B
X 2.A
X 3.D
o ic

Question ID
Status
Chosen Option

12055234235
:Answered
1

Q 55 In a certain code language, if DELHI is coded as 68291 and PATNA is coded as 75345, then PATLI will be coded as?

A. 75312
B. 53721
C. 35712
D. 75321

Ans  of 1D
X 2.c
X 3B
X 4A

Question ID
Status
Chosen Option

12055234293
:Answered
14

Qs 5

6
If Sin 4 =; and Sin B = thenCoz (4-B)="7

.2
33
ﬁ
33
ﬂ
56
E
33

Ans  of 1 A
X 2.8
K 3.cC
~<

B.

C.

D.
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is system that Ip hardware and software resources and provides common services for
computer programs.

A. Operating Margin

B. Application Software
C. Operating System
D. Microsoft Word

Ans X 1.D
v 2c
X 3.A
X 4B

Question ID : 2055234256
Status : Answered
Chosen Option : 4

Q.58 =aFIRF aRoN gaRT TRAMNG v a1, o AT T B FRAwensdt @ wEfg aamnt AR sl @ sfafce
FXATE, FH el Bl

A. gdIT &7 (Polar region)

B. 3GURTICHT 417 (Perceptual region)
C. = ¥ &% (Blue ray region)

D. ¥ a7 (Bank region)

Ans X1_A
W28
K 3D
X ac

Question ID : 2055234254
Status : Answered
Chosen Option :2

Q 59 M. Pritosh borrowed Rs. 4500 at 5% per annum compound interest. The compound interest compounded annually for 2
years is:

A 496125
B. 46125
C. 491625
D. 41625

Ans X 1.c
W28
X 3D
X 4A

Question ID : 2055234277
Status : Answered
Chosen Option :4

Q.60 Hglcdd # a9 eRIgT ¥od §94 A4 g

A. uiRIEr

B. 9

C. gfaior AR

D. 3ifecferar
Ans X 1 A

X 2D

W 38

X ac

Question ID :2055234251
Status : Answered
Chosen Option :1

Q.61 One of the following endangered animal gives the World's best and most expensive wool -

A. Chiru

B. Kashmiri goat
C. Kashmiri sheep
D. Cheetal

Ans  of 1 A
X 2D
X 3.B
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X ac

37 e/ e &7

A. Pascal : Pressure
B. Watt : Power
C. Ampere : Current

D. Radian : Degree

Ans  of 1D
X 2.8
X 3.c
X 4A

Q.62 R ypAiAddaga s R s m iR e Ea e i wsaaga da

Question ID : 2055234304
Status : Answered
Chosen Option :1

A. 1989
B. 1990
C. 1995
B, 1999

Ans  of 18
X 2.c
/X 3.0
X 4.A

Q63 geger (Hubble) & 3iaRer # &a yaifad ferar smm ar?

Question ID :2055234245
Status : Answered
Chosen Option :2

16 +64—-4x4+3="7

A 20
B. 152
C. 52
D. 12

Ans X 1.8
K o2.c
W 3A
K 4D

Q.64 Answer the question based on the below information:

If “+’ means ‘x’, ‘-’means -+, ‘+’ means ‘“+* and ‘X’ means ‘-’

Question ID : 2055234297
Status : Answered
Chosen Option :3

Q.65 TI=H (Newlands), #5elT (Mendeleev) 3T #T (Meyer) A 7ot o

A. aigfaae (Metallurgy)

B. 3mac @Roft fwer-awg (Periodic table contents)
C. TRAW] TFT (Atomic structure)

D. dcdl (elements) #r @i

Ans  of 18
X 2.c
X O3A
X 4D

7 fasrg o o

Question ID : 2055234234
Status : Answered
Chosen Option :1

Q.66
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A bowl has two holes. The 1% hole alone makes the bowl empty in 4 minutes and 224 hole alone makes the bowl empty in
12 minutes. If water leaks out at a constant rate, how long in minutes does it take if both the holes together empty the

Chosen Option :3

bowl?

A 133
B. 35
C. 4

D.3
Ans X' 1B
X 2.A

3D
X a.c

Q.67 Indonesia is the largest country in the world.

A. Island
B. Hilly

Question ID : 2055234260
Status : Answered
Chosen Option : 4

C. Mountainous
D. Forest

Ans X 1.c
X 2D
X 3B
o 4A

Q6 A, B, C. D and E are sitting on a bench. A is sitting next to B, C is sitting next to D, D is not sitting with E who is on the
left end of the bench. C is on the second position from the right. A is to the right of B and E. A and C are sitting together.
In which position A is sitting?
A. Between B and D
B. Between B and C
C. Between E and D
D. Between Cand E

Question ID :2055234309
Status : Answered
Chosen Option : 4

Ans X 1.c
W28
X O3.A
X 4D

Q69 Compute of 2304 +256 —11="

A2
B. -2

Question ID : 2055234264
Status : Answered
Chosen Option : 2

C. 2304/245
D. 2340/245
Ans X' 1D
W28
X 3.A
X 4a.c

Q70 Compute 56565 x 9999 =?

A, 565953435
B. 565533435

Question ID :2055234267
Status : Not Attempted
Chosen Option : --

C. 565539435

D. 565503435
Ans x1'A
W 20D
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X 3B
K o4c

Q71 Which is India's first indigenous super computer?

A. PARAM 8000

B. PARAMYUVAI
C. AADITYA

D. BHASKARA

Ans X 1.c
X 2.8
W 3A
X 4D

Question ID :2055234258
Status : Answered
Chosen Option :3

Q.72 By interchanging any two signs, correct the below equations:
Sx15+7-20+4=77

A, -and +
B. xand +
C. +and+
D. +andx

Ans X1_B
v oc
K 3D
X 4.A

Question ID :2055234298
Status : Not Attempted
Chosen Option : --

Q.73 Ifina certain language, GLOBAL is coded as HMPCBM., how is STAND coded in that code?

A. TUBEO
B. TBOUE
C. TBUEO
D. TUBOE

Ans X 1.8
K2.A
W 30D
K o4c

Question ID : 2055234295
Status : Answered
Chosen Option :3

Q 74 Agoup of 1200 persons consisting of teachers and students is travelling in a metro. For every 15 students there is one
teacher. The number of teachers in the group is -

A.70
B.75
C. 80
D. 85

Ans X 1A
K o2.c
W 38
K 4D

Question ID : 2055234300
Status : Answered
Chosen Option : 3

Q.75

Downl oaded From www. rrbexamortal.con

Question ID : 2055234283
Status : Answered
Chosen Option : 4

19/27
COURTESY: RRB


https://rrbexamportal.com
https://rrbexamportal.com
https://rrbexamportal.com

Downl oaded From www. rr bexanportal . comr

Ans

Simplify: 4a-3(a-3)

A -a+9
B.-a-9
C. a+9
D. a-9
X 1B
Wvoc
X 3.A
54D

Q.76

Ans

, TIAEIA (aluminium) T TIT Fgcdqol 30 ¢
A. F3ifaaET (Kaolinite)
B. §AciEc (Haemetite)
C. faaeEe (Geotite)
D. gfFase (Bauxite)
KA
X 2.8
W 3D
X 4a.cC

Question ID : 2055234262
Status : Answered
Chosen Option :1

Q77

Ans

(3&}% X (2?]% =2

A 1/8

B. 81
c. 18
D 12

X 1.D
5 2.8
X 3.A
W

Question ID : 2055234268
Status : Not Attempted
Chosen Option : --

Ans

Q78 Tn which year did India launch its first Satellite?

A, 1975
B. 1979
C. 1970
D. 1980

1A
X 2.8
X 3D
X 4a.c

Question ID : 2055234243
Status : Answered
Chosen Option : 3
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Comprehension:
Study the following table and answer the questions.

Classification of 100 Students Based on the Marks Obtained
by them in Science and Arts in an Examination.

Marks out of 50
40 30 20 10 0
Subject
and and and and and
above | above | above | above | above
Science 9 32 80 o2 100
Arts 4 21 66 81 100
Average | ., | 2 | 73 | 87 | 100
(Aggregate)

SubQuestion No : 79

Q.7 Calculate number of students scoring less than 40% aggregate marks.
9
A. 13

B. 19

C. 20

D. 27

Ans X 1.C

W 2D

/K 3B

&S 4A

Comprehension:

Study the following table and answer the questions.

Classification of 100 Students Based on the Marks Obtained
by them in Science and Arts in an Examination.

Marks out of 50
: 40 30 20 10 0
Subject
and | and | and | and | and
above | above | above | above | above
Science 9 32 80 o 100
Arts 4 21 66 81 100
Average
5 7 | @t | B | & | 100
(Aggregate)
SubQuestion No : 80
.8 If at least 60% marks in Science are required for pursuing higher studies in Science, calculate total number of students
0 ‘who will be eligible to pursue higher studies in Science?
A2T
B. 32
C. 34
D. 41
Ans 1D

K 2.c
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K 3.A
W 4B

Comprehension:

Study the following table and answer the questions.

Classification of 100 Students Based on the Marks Obtained
by them in Science and Arts in an Examination.

Marks out of 50
40 30 20 10 0
Subject
and and and and and
above | above | above | above | above
Science a9 32 80 o2 100
Arts 4 21 66 81 100
Average 7 27 | 73 | 87 | 100
(Aggregate)

SubQuestion No : 81

Q.8 The percentage of number of students getting 20% marks in Arts is exactly 3 times those getting

1 A. An aggregate of 60 and above
B. 60 and above in science
C. 60 and above in arts
D. 80 and above in science

Question ID :2055234320
Status : Not Attempted
Chosen Option : --

Ans X 1.C
X 2B
Vv 3A
X 4D

Q.82 #Hewre Hars 51 g (Maharaja Sawai Jai Singh) qarir ffd Siat Hax (Jantar Mantar) @21 82

A. gy (eletd)
B. Hargrerm
C. ferr

Question ID : 2055234250
Status : Answered
Chosen Option :1

D. W Jermel (Wi st

Ans X 1B
X 2c
K 3A
W 4D

Q.83 @ 2iee (Angus Deaton) i sisfeired & fw 3eh 39eir R & & fow Ao qrepr fam = o, =g s
Sfe-fadtanet & P gxfe Far 82

A. Ig 39T qOEiE Feld F 7 AGE Fdr §
B. 0t &SRO T carEr Far §
C. 7g Fdrar § & whE & 3 Arr 5 ghar §

Question ID : 2055234242
Status : Answered
Chosen Option :3

D. e & fv U @S o e axar §

Ans X 1A
X 2D
X 3.B
W 4cC

Q.84
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By interchanging any two signs, correct the below equations:
4%2+6+2-12=2

.—and x

+and -

.Xand +

+—and x

Ans  of 1D
K2.A
X 3B
K o4c

onwp

Status : Not Attempted
Chosen Option : --

Q85 Find the HCF of 2189 and 2587.

A3

B. 197
C. 199
D. 198

Ans X 1A
X 2D
X 3B
o 4cC

Question ID :2055234269
Status : Not Attempted
Chosen Option : --

Q.86 Read the statements and select a conclusion from the given alternatives:
Statements:

i. Some tulips are flowers
ii. Some flowers are fishes
iii.  All fishes are leaves
iv.  All leaves are roses
Conclusions:

1. Some roses are flowers
2. Some tulips are fishes
3. No leaves are tulips

4. No tulips are fishes

Choose the conclusion/s which best follow/s the statements.

A. Only 1 follows

B. Only 1 and 2 follow

C. Only 1 and either 2 or 4 follow
D. Only either 2 or 4 follows

Ans X 1.D
X 2.8
X 3A
W cC

Question ID :2055234311
Status : Answered
Chosen Option : 4

Q.87 The cash difference between the selling price of an article at a profit of 4% and 14% is Rs. 3. The ratio of two selling
prices 1s.
A, 52:57
B. 51:57
C. 52:59
D. 55:57

Ans x1_C
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v 2A
X 3B
X 4D

Q.88 Two numbers are in ratio 5:7 and their HCF is 33. Their LCM is:

A. 1155
B. 165
C. 231
D. 1515

Ans X1_D
X 2c
W 3A
X 4B

Question ID :2055234271
Status : Not Attempted
Chosen Option : --

Q.89 The first meeting of the Indian congress was held at -

A. Calcutta
B. Madras
C. Bombay
D. Delhi

Ans  of 1 C
K2.A
X 3B
K 4D

Question ID : 2055234249
Status : Answered
Chosen Option :2

Q.90 One of the following Indian langnages does not have a Dravidian origin. -

A. Malayalam
B. Telugu

C. Kannada
D. Marathi

Ans X' 1.C
X 2.A
X 3B
o 4D

Question ID : 2055234240
Status : Answered
Chosen Option :1

Q91 The National sport of Turkey is -

A. Racehorse

B. Wrestling
C. Handball

D. Basketball
Ans 1 A
X 2.c
X 3.D
W 48

Question ID : 2055234227
Status : Answered
Chosen Option : 1

Q.92
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What is a computer virus?

A. Software
B. Hardware

C. Freeware
D. Bacteria

Ans  of 1A
X 2D
X 3B
X a.c

Status : Answered
Chosen Option : 2

....... x, with mean x is given by:

Question ID :2055234290
Status : Answered
Chosen Option : 3

Ans x 1.D
X 2c
W 38
X 4.A
Q.94

The mean of first 20 natural numbers is:

A 10
B 10.5
C.11
D. 11.5

Ans X' 1D
X 2.A
X 3.C
W 48

Question ID : 2055234292
Status : Answered
Chosen Option :3

A. Consumer Surplus

B. Consumer Price Index
C. Consumer Rights

D. Censumer Durables

Ans X' 1D
X 2.c
W 3A
X 4B

Q 95 The difference between the 's willi to pay fora dity and the actual price paid by them is known as:

Question ID : 2055234253
Status : Answered
Chosen Option : 4
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Q.96 Dengue fever, a mosquito borne tropical disease caused by the dengue virus is also known as -

A. Remittent fever
B. Quotidian fever
C. Breakbone fever
D. Pel Ebstein fever

Question ID : 2055234230
Status : Answered
Chosen Option : 1

Ans x1_A
X 2D
X 3.8
W c

Q 97 Priya takes 3 hrs 30 minutes in walking a distance and riding back to same place where she started. She could walk both
ways in 4 hrs 10 minutes. The time taken by her to ride back both ways is:

A. 2 hrs 50 min
B. 2 hrs 35 min
C. 2 hrs 45 min
D. 2 hrs 15 min

Question ID : 2055234276
Status : Answered
Chosen Option :1

Ans !1.A
X 2.D
K o3.c
X 4B

Q98 g faffd wweq FBegar 1 gensit # gear feae 22

A B

Question ID : 2055234287
Status : Answered
Chosen Option : 1

B. 4
C.3

D.2
Ans X' 1D
X 2.A
W 3cC
X 4B

Q 99 ‘World Acquired Immune Deficiency Syndrome (AIDS) Day was observed on with the aim to make people
aware about pandemic caused by the HIV infection.

A. December 10, 2015
B. September 17, 2015
C. June 5, 2015

D. December 1, 2015

Question ID : 2055234225
Status : Answered
Chosen Option :1

Ans  of 1D
X 2.8
X O3.A
X a.c

Q.10 Direction: Read the statements and select a conclusion from the given alternatives:
0 Statement:
All the members of Jeevandeep society have their own business.

Conclusions:

Question ID : 2055234322
Status : Answered
Chosen Option :1

I) Omikar, son of one of the members of society will carry on his father’s business in future.
1I) Sheela, a member of society has her own business.

A. Only conclusion I follows
B. Only conclusion 1T follows
C. Either I or II follows

D. Neither I nor II follows

Ans x1'D
X 2.c
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X 3A
o 4.8

27127
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